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ACROSS

3 This William was 1st Earl of Pembroke and
husband of Anne Parr.

8 This William was groom of the stool to
Henry VIl and died of sweating sickness
in 1528.

13 This William was Archbishop of
Canterbury and godfather to Henry, Duke
of Cornwall, son of Henry VIIl and
Catherine of Aragon.

14 This William was a spelling reformer and
grammarian.

15 This William served as a secretary to
Elizabeth | and was imprisoned after Mary
Queen of Scots' death warrant was sent
without the queen's permission.

17 This William's mother was Mary Arden
and his wife was Anne Hathaway.

18 This William was second husband to Bess
of Hardwick.

19 This William was a Bible translator.

DOWN

1 This Wiliam was the son-in-law of Sir
Thomas More and author of a biography
of More.

2 This William preached in front of Henry

VIIl and was recorded as saying that dogs
would lick his blood, as they had done to
Ahab.

4 This William was a nephew of Sir Thomas
More and worked with Nicholas Harpsfield
and John Clement on publishing a volume
of More's works.

5 This William was Elizabeth I's Secretary of
State.

6 This William was executed in May 1536 for
treason in the fall of Anne Boleyn.

7 This William was the son of a prominent
duke, was Baron of Effingham and a naval
commander.

9 This William sided with Henry Tudor at
the Battle of Bosworth but was executed in
1495 for allegedly supporting Perkin
Warbeck.

10 This William was nicknamed William
Waste All by his family historian and
fought in the Battle of Nibley Green.

11 This William escaped execution for his part
in Wyatt's Rebellion by fleeing to France.

12 This William introduced the "x" symbol
for multiplication and the abbreviations
"sin" and "cos" for the sine and cosine
functions.

16 This William was Mary Boleyn's first
husband.
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